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There it is a Torah prohibition — RNYMIRT XMONRT 2NN

OVERVIEW

717 " posed a query what is the rule if a person sold his slave to a *721 and died,
do we penalize the son that he is required to redeem the slave from the °733, or not.
The X713 says (even) if we assume that in the case where a person made a 2 in a
703,! and died; we penalize the son (and do not permit him to slaughter it and eat
it), nevertheless we cannot assume that the same law applies here by 72¥, because
by the 7132 the father transgressed an n"iin 70°X, however here selling a 7132 to a
"1 1s only an 1312772 MO°X. Our MODIN suggests that there were more options to
consider.

- XD 91920 N DY 53X (3,75 M) PYTIINN 9102 Y3 H999)
And in PRwIPRT 90D 9o oo, regarding the case where one nicked the ear of a

9122 (making it into a 2% ¥2) and died, the X ma there states -
- 389 1YY ¥POIT TaY SINYT 2XINN DYDY NPT

That we cannot resolve the case of ™22 from the case of 72V that we penalize
the son, for an 72y is different and stricter than 7122, since by selling him to a
21, you remove him from observing the nx», so -

= N9 919919 '8 11N )5 ON

Therefore the X773 could have said here (also) the opposite —
- IS Y YPONT DIVM 1DIP NN 1DIP KXY ONNT 1Y I8N ON

Even if we assume that there by 7102 they did not penalize the son, nevertheless

here by 72V they did penalize the son because he removed him from nx» -
$NOD 99 “NIDIN 91917 81 NN DN 19

And similarly there in MM, the X723 could have said the opposite as the
reasoning is here that 1102 is stricter than 72y.

! One is not permitted to make a 0 in a N33 (so he will be permitted to eat it) because the 71N writes (in  XP”
X2,20 [R]) regarding D°w7p that 12 770 X? 01 93; one is not permitted to make a o in 2°w7p (for instance a 7132).
If one made a 0w in a 7122 (consciously) he is penalized and may not slaughter and eat it.
2 The x7m there is saying that even if by 72v we do penalize the son, we cannot assume that the same rule applies by
7102 TR 00X
3 The X »3 there is saying that an 72V is stricter than T132 (the opposite of what the X723 is saying here that M2 is
stricter than 72v). From one perspective, not allowing an 72y to perform the mx» is a worse ‘sin’ than making a 0w
in a M2,
4 The X7m3 there could have said that even if by 72y they did not penalize the 13, it is not proof that by 7132 we do not
penalize the son, since 7122 is stricter for it is a RN™7IRT.
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SUMMARY
21592 has a strictness over 72V that it is a Xn*RT and 72y has a strictness over 7102
because he 1s ¥pon the 72y from mxn.

THINKING IT OVER
1. Did mo01n mean that in each noon the X ni should have only said the opposite of
what it said, or should the X773 also have said the opposite of what it said?

2. Is there any reason why indeed the X713 did not mention (in either ndon) that we
cannot derive one from the other, even if we assume the opposite of what the X n3
assumes in each N2on (as NOOIN suggests)?’

5 See wn nbma.
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